
F-L

F-R B-R

B-L

M4*12
M4*30

B-L/B-R

M4*12

M4*16

F-L/F-R

① Install the accessories on the 
truck and tighten the screws.

②Fix the Mudguard on the installed 
accessories and tighten the screws.

③ Installation complete.


